
 
 

 
 
 

 
 
 

 
 
 
 
 

Question 1: 
 

The preferred approach to selecting villages for inclusion in the 
settlement hierarchy is to look at including all settlements of about 
500 population and over and then to consider the level of provision 
of facilities and journey time to nearby towns. 
 
Do you agree with this approach?  

 
Agree / Disagree / Unsure… 
 

Question 2: 
 

What other factors if any do you think should be taken into account?   
 

Question 3: 
 

The assessment of facilities used in the village facilities analysis is 
based on having at least three of the following important facilities. Do 
you have any comments on this approach? (school, shop, meeting 
place e.g. village hall, employment space, children’s play area / 
recreation ground, and doctor’s surgery). 
 



 

 
 
 

 
 
 

 
 
 

Question 4: 
 

Acceptable journey time to nearby towns is considered to be up to 
30 minutes by public transport or up to 15 minutes by car.   

 
Do you agree with this approach? 
 
Agree / Disagree / Unsure… 
 

Question 5: 
 

If your community wants housing and/or other developments, which 
route do you think would help you achieve your community's 
aspirations?  
 


